*UXSD 5RINiDG  %LRWHFKQROIRJLD W  VHP  JUXSD $

Z\NiDG 7\J IDERUDIRUXP  7\J Z\NiDG 7\J SUJHGPILRI RELHUDIQ\ 7\J ||/IDERUDIRUXP SUJHGPLRI

%RIQIRUPDIAND 6 OINURELRIRILD 3RPLOU\ DXIRPDINND L REIHUDIQN - 7\J
SUJHP\ViRZD 6 $ HIHNIURIHFKQIND 6 9%LRSUHSDUDIN 9%LRSUHSDUDIN
IDERUDIRUXP 7\J PINURELRIRJIF]QH Z PINURELRIRJIF]QH Z
%RIQIRUIPDINND = 3. IDERUDIRUXP 7\J ELRIHFKQRIRIL 6 ELRIHFKQRIRJLL 6 $

3RPLDU\ DXIRPDINND L Z\NiDG
HIHNIURIHFKQIND 6

IDERUDIRUXP  SUJHGPLRI
RELHUDIQ\  7\J

$QDIL]D VHQVRINF]QD 6

JUXSD $6

SRQLHG]LDdHN

IDERUDIRUXP  SUJHGPLRI
RELHUDIQ\  7\J

$QDIL]D VHQVRINF]QD 6

JUXSD $6

SUTHGPLRI RELHUDIQ\ 7\J

1DIXUDIQH EDUZQINL
URGIQQH 6

Z\NiDG

IDERUDIRUXP SUJHGPLRI RELHUDIQ\  7\J
1DIXUDIQH EDUZQINL URGLQQH 6
JUXSD 1%

ZWRUHN

IDERUDIRUXP SUJHGPLRI REIHUDIQ\  7\J
1DIXUDIQH EDUZQINL URGLQQH 6
JUXSD 1%

Z\NiDG 7\J Z\NiDG 7\J JRG]LQD

OINURELRIRJLD %RIHFKQRIRIID 6 U7H\]JHUZRZD
SUTHP\V:RZD 6 |

gu

6ILRQD  RSXENINRZDQ\ SRIHFKQIND /RGIND & (/&$7 7LPHIDEIQJ NRQINQXRZDQH




*UXSD 5RINiDG  %LRWHFKQRORJLD WW VHP JUXSD $
Z\NiDG 7\J
% " RNXPHQIDFID IHFKQLF]QD
L SRGVIDZ\ SURIHNIRZDQLD
6
IDERUDIRUXP 7\J SURIHNI 7\J SUJHGPLRI RELHUDIQ\ 7\J || IDERUDIRUXP SUJHGPRI REIHUDIQN  7\J
= | %RIHFKQRIRID 6 $SDUDIXUD BSHNIURPHIUD IDNR QDUJCG]LH DQDII\ SIHUZIDVINYZ 6
I ELIRIHFKQRIRJIF]QD 6 5HJLRQDIQH QDSRIH
= VSINIXVRZH 6 JUXSD 6$1  GR JRG]
(M) Z\NiDG
N IDERUDIRUXP SUTHGPLRI RELHUDIQ\  7\J
m BSHNIURPHIUD IDNR QDUJCG]LH DQDII\ SIHUZIDVINYZ 6
JUXSD 6$1  GR JRG]
SUTHGPLRI RELHUDIQ\ 7\J || [SUTHGPLRI RELHUDIQ\ 7\J IDERUDIRUXP SUJHGPLRI
RELHUDIQN  7\J
JQIHNFIH L LOIRNVANDFIH 6 ||{$QDILID VHQURINF]QD 6% $QDI]D VHOVRI\F]QD 6
=
L Z\NiDG Z\NiDG JUXSD $6
Q SURIHNI 7\J IDERUDIRUXP SUJHGPLRI
w = RNXPHQIDFID IHFKQLF] QD REIHUDIQN - 7\J
L SRGVIDZ\ SURIHNIRZDQLD $QDI]D VHOVRI\F]QD 6
- 3.

JUXSD $6

6ILRQD  RSXENINRZDQ\

SRIHFKQIND /RGIND & (/&$7 7LPHIDEIQJ




*UXSD 5R]NiDG

%LRWHFKQRORJLD VW  VHP

JUXSD %

SRQLHG]LDdHN

Z\NiDG 7\J
%LRLQIRUPDINND 6

SURIHNIE 7\J
$SDUDIIXUD
ELRIHFKQRIRJLF]QD 6%
IDERUDIRUXP  7\J
%LRIQIRUPDINND = 3.

Z\NiDG 7\J

3RPLDU\ DXIRPDINND L
HIHNIURIHFKQIND 6

IDERUDIRUXP  7\J

3RPLDU\ DXIRPDINND L
HIHNIURIHFKQIND 6

SUJTHGPILRII RELHUDIQ\ 7\J

%LRSUHSDUDIN
PINURELRIRILF]QH Z
ELRIHFKQRIRJIL 6

Z\NiDG

IDERUDIRUXP  SUJHGPLRI
RELHUDIQ\  7\J

$QDIL]D VHQVRINF]QD 6
JUXSD $6

IDERUDIRUXP  SUJHGPLRI
RELHUDIQ\  7\J

$QDIL]D VHQVRINF]QD 6

JUXSD $6

IDERUDIRUXP  SUJHGPLRI
RELHUDIQ\  7\J

%LRSUHSDUDIN
PINURELRIRILF]QH Z
ELRIHFKQRIRJIL 6 $

ZWRUHN

SUTHGPLRI RELHUDIQ\ 7\J

1DIXUDIQH EDUZQINL
URGIQQH 6

Z\NiDG

IDERUDIRUXP SUJHGPLRI RELHUDIQ\  7\J
1DIXUDIQH EDUZQINL URGLQQH 6

JUXSD 1%

IDERUDIRUXP SUJHGPLRI REIHUDIQ\  7\J
1DIXUDIQH EDUZQINL URGLQQH 6

JUXSD 1%

Z\NiDG 7\J

OINURELRIRILD
SUJHP\V:RZD 6

gu

Z\NiDG 7\J
%LRIHFKQRIRJD 6

JRG]LQD
UHJHUZRZD
7N

6ILRQD  RSXENINRZDQ\

SRIHFKQIND /RGIND & (/&$7 7LPHIDEIQJ

NRQINQXRZDQH




*UXSD 5RINGDG  %LRWHFKQRORJLD W  VHP  JUXSD %

Z\NiDG 7\J

" RNXPHQIDFID IHFKQLF]QD
L SRGVIDZ\ SURIHNIRZDQLD
6

IDERUDIRUXP  7\J SUTHGPLRI'RELHUDIQ\ 7\J ||/(DERUDIRUXP SUJHGPLRI REIHUDIQ\  7\J

= | %RIHFKQRRRID 6 GSHNIURPHIUD IDNR QDUJCG]LH DQDIJ\ SIHUZIDVINYZ 6
I SHJILRQDIQH QDSRIH
= VSINIXVRZH 6 JUXSD 6$1  GR JRG]
A Z\NiDG
N IDERUDIRUXP SUJHGPLRI REIHUDIQN  7\J
= GSHNIURPHIUD IDNR QDUJCG]LH DQDIJ\ SIHUZIDVINYZ 6
JUXSD 651  GR JRG]
SUJHGPLRI REIHIDIQ\N 7\J | |[SUTHGPLRI REIHUDIQN 73 || SURIHNI 7\J IDERUDIRUXP SUJHGPLRI
= RNXPHQIDFID IHFKQIF]QD | ||REHHUDIQN - 7AJ
JQIHNFIH L LQIR\VANDFIH 6 |||$QDI]D VHQVRUINFIQD 6% || L SRGVIDZ\ SURIHNIRZDQID  ||$QDIL]D VHQVRINF]QD 6
= 3.
T Z\NiDG Z\NiDG JUXSD $6
Q IDERUDIRUXP 7\J IDERUDIRUXP SUJHGPLRI
%) RELHUDIQ\  7\J

OINURELRIRILD
SUJHP\V:RZD 6 $

$QDIL]D VHQVRINF]QD 6

JUXSD $6

6ILRQD  RSXENINRZDQ\

SRIHFKQIND /RGIND & (/&$7 7LPHIDEIQJ




